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1. Which of the following are zeros of the function f(z) = 7% + 3z + 5

(2) 3j;¢ﬁ (b) ) ﬂ:;‘\/ﬁ © Bi;\/ﬁ @ 3j:2\/ﬁ
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2. Which of the following is a possible simplification of -7

1+1
) 9 —3 ey 25 () 1+i (d)};—?"
3. If f(z) =23 | then f(4) = .
(a) 8v/2 (b) /43 (c) v64 (d) 6416

4. Which of the following equations is true for all rational number values of T, y, and z7

(2) z(y+2) = (y+2)z (b) 2(y + 2) = (z +y)z
(¢) z(y+2)=azy+= (d) 2(y +2) = (zy)(z2)

5. A geometric sequence with a missing term is shown below.
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What is the missing term in the sequence?

(a) (b) (c) 2 @ 5
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(21) A cylindrical can is 10 inches in height and has a surface area of about 245 square inches, including
the top and bottom. Which of the following is the approximate volume of the can in cubic inches?

(a) 283 (b) 385 (c) 785 (d) 1131
(22) The point (3, -2) is rotated 90° clockwise about the origin. The image is:
(a) (—3,-2) (b) (—2,-3) (e) (2,—3) (d) (—3,-2) (e) None of These

(23) SR|TV, TR=TV, and W bisects both SU and ZRTV. What can you conclude?
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(a) SAS can be used to prove that ARST = AVTU

(b) ASA can be used to prove that ARST = AVTU

(c) SSS can be used to prove that ARST = AVTU

(d) There is not sufficient information to prove that ARST = AVTU

{25) In the figure, three lines intersect in a point. Given the measures of the acute angles as shown, what
is the value of z + y?

209

(a) 80° (b) 100° (c) 130° (d) 150° (e) 200°
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(4) In the figure below, points A, B, and € are collinear, and AB and BC are each 6
units long. If the area of AACD is 24 square units, how many units long is the

altitude BD?

(c) 6 (d) 8

(8) In a hexagon, three angles have the same measure. The measure of each of the
congruent angles is twice the measure of the fourth angle and is half the measure of
the fifth angle. The sixth angle measures 115°. What is the measure of the smallest
angle?

(a) 55° (b) 110° {e) 428° (d)y 41°

(9) The exterior angle of a base angle in an isosceles triangle is 100°. What is the
measure of the vertex angle?

(a) 80° (b) 60° (c) 40° (d) 20°

(12) A mountain climber stands on level ground 300 m from the base of a cliff. The angle

of elevation to the top of the cliff is 58°. What is the approximate height of the
cliff?

(a) 566 m (b) 480 m {c) 354 m (d) 18T m

(13) A 20-foot ladder is leaning against a wall. The foot of the ladder is 7 feet from the
base of the wall. What is the approximate measure of the angle the ladder forms
with the ground?

(a) 70.7° (b} 69.5° (e) 2050 (d) 19.3°

(16) What is the ratio of the surface areas of two spheres with volumes of 64 em® and
125 em??

(a) 4:5 (b) 8: 10 (c) 16:25 (d) 64:125

(17) A point is randomly selected on XY . What is the probahility that it will be closer
to the midpoint of XY than to either X or Y7

(a) 1/4 (b) 1/3 (c) 172 (d) 3/4
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(2) Triangle WX ¥ has the propcrtma listed Below.
o mLW FmLY = 100°
o /W =msY"
(&) : Scalene andac:&i:e (b) bca}auean
() isosceles and acute {d) isosceles and abtuse

(7) In the didgram below, ALMK ~ APMN.
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‘Based en the relationship between the triangles, which of the following propertions is true?

@M _KL . IM _NP (o ME _KL 0 ME NP
Y-PAT T NP PM KL MP NE Y MP EL

{13} A pentagonal prisin is shown below.
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What is the total number of edges of a pentagonal prism?

(a) 15 (b) 12 {c) 10 (@ 7




